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1. Please explain the following terms in detail. 
(a)GPS (5%) 
(b)QAM (5%) 
(c)LTE (5%) 
(d)DWDM (5%) 

2. Describe how the OFDM technology can be used to solve the lSI 
problem? (20%) 

3 . Please describe the characteristics of the following two fading types: (20%) 
(a) frequency-selective and slow fading 
(b) flat and fast fading. 

4. Consider a bit stream 1011011100111010. What is the output 
sequence after a 4x4 block interleaver? (20%) 

5. Describe in detail the relations among SNR, BER, throughput, and 
modulation scheme in a digital communication system (20%). 


